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107345 50 5 BRSERHT B 107375 10 9 2Em BE
107346 20 =8 BRRET B 107376 10 5 2EW B
107347 40 8 2N B 107377 20 EE kil BiE
107348 20 =8 FAHM B 107378 20 5 =410 B fE
107349 40 8 FRHM BAE 107379 60 8 2Em BE
107350 20 =8 FAHM B 107380 10 =S Lk B
107351 20 8 FRHM BAE 107381 10 8 BiTHET BE
107352 50 E] 1=Fiai] BiE 107382 60 5 =410 L
107353 50 8 FRHM BAE 107383 20 % KiBHET BE
107354 60 E] 1=Fiai] B 107384 50 5 =410 o & fE
107355 10 8 FRHM BAE 107385 40 8 =] TL
107356 50 E] 1=Fiai] BiE 107386 10 = BRUFHT B
107357 40 8 FRHM BAE 107387 40 8 SR ET BE
107358 80 z Mg 7L 107388 20 L2 HEH BiE
107359 30 8 INgTH B 107389 20 8 HEH BE
107360 10 5 Mg L 107390 20 5 BT B
107361 20 8 INgTH B 107391 30 % BEm BE
107362 10K | 5 E=y kil BiE 107392 10 E:] Rt 23
107363 30 8 =yl BE 107393 20 E2 R TL B
107364 30 =8 E=y kil B 107394 40 E:] wiEm 23
107365 70 5 teEET BAE 107395 70 3 Righ hEE
107366 20 E] £ LET BiE 107396 60 =S RiEH B
107367 30 5 teEET BAE 107397 20 3 Righ BE
107368 30 =8 dteEER B 107398 10 E:] Rt 23
107369 |10k | 5 teEET L 107399 20 E: KFFTh BE
107370 (10K | 5 dteEE® BiE 107400 40 =S RiEH 7L
107371 20 8 teEET B 107401 20 3 Righ BE
107372 30 =8 2B B 107402 50 E:] KiF 23
107373 40 = EEM B 107403 30 EE mET BE
107374 30 =8 2B B 107404 20 E:] =z 23
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107405 20 8 z@m BE
107406 20 =8 A& L B
107407 20 8 UES B
107408 40 =8 B BiE
107409 60 8 Z@m BE
107410 30 B BmEM B
107411 30 8 2h B
107412 20 =8 2t B




